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def GS(graph, h, start, goal):
C =[] # ClosedList
O =[] # OpenList
initPath = [start] # Path init
O.append(start)
pathPriorityQueue = [initPath] # List of paths
while len(O) != 0:
p = O.pop(0) # p is removed from the list O
tmpPath = pathPriorityQueue.pop(0)
if p==goal:
print("Goal! GS Search is over!')
path=[goal]
tmpPath.reverse()
for node in tmpPath:
child node = path[-1]
if graph.has key(node) and child node in graph[node]:
path = path + [node]
path.reverse()
return path
else:
P_A = graph[p]
C.append(p)
itP_A=]]:
print(""No Solution. Path empty.'")
return None
forqinP_A:
if @ not in O and ¢ not in C:
O.append(q)
sortedO =]
print ("Open :"', O)
print ("' Closed:",C)
fornin O:
sortedO.append((n,h[n]))
sortedQ = sorted(sortedQO, key=lambda x:x[1])
O=]]
for node, n_h in sortedQO:
O.append(node)
print (""Open after sort: ', Q)
newPath = tmpPath + [O]0]]
pathPriorityQueue.append(newPath)
print "path PQ: " pathPriorityQueue
return None
graphl={'S":{A",B'},)A":{'E,'B'},'B":{{C",'JE,'F'},
'CH{'FLG DA} E{DFY F G

graphl h={'S':10,'A":5,'B":4,'C":6,'D":2,'E":3,'F':4,'G":0}

print "GS for graph1:"
print GS(graphl,graphl h,"S","G'")



GS for graphl:
(‘Open ', ['A", 'B'])
('Closed:', ['S']D
('Open after sort: ', ['B', 'A'])

path PQ: [['S','B']]

(‘Open ', ['A",'C", 'E', 'F'])
('Closed:', ['S', 'B'])

('Open after sort: ', ['E','F', 'A", 'C"])
path PQ: [['S', 'B','E']]

(‘Open ', ['F',"'A",'C', 'D'])
('Closed:', ['S', 'B', 'E'])

('Open after sort: ', ['D', 'F', 'A", 'C"])
path PQ: [['S','B',"'E', 'D']]

(‘Open ', ['F', 'A", 'C'])

('Closed:', ['S', 'B', 'E', 'D"])

('Open after sort: ', ['F', 'A", 'C'])
path PQ: [['S',"B', 'E','D", 'F']]
(‘Open ', ['A",'C", 'G'])

('Closed:', ['S', 'B', 'E', 'D", 'F'])
('Open after sort: ', ['G','A', 'C"])
path PQ: [['S', "B, 'E', 'D', 'F', 'G']]
Goal! GS Search is over!

'S, 'B','"E",'F','G']
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